
Multiplication et Division (A)Calculez chaque produit ou quotient.81 : 9 = 35 : 5 = 4 · 13 = 14 · 2 =21 : 3 = 1 · 9 = 14 · 11 = 14 · 4 =6 · 9 = 15 · 13 = 3 · 8 = 14 · 11 =12 : 3 = 12 : 1 = 65 : 13 = 14 · 15 =42 : 3 = 3 · 15 = 182 : 13 = 78 : 6 =3 · 13 = 77 : 7 = 7 · 2 = 9 · 1 =50 : 10 = 3 · 7 = 3 · 3 = 12 : 3 =150 : 15 = 13 · 13 = 104 : 8 = 75 : 5 =2 · 6 = 60 : 6 = 72 : 9 = 5 · 15 =15 · 14 = 12 : 4 = 11 · 12 = 12 : 2 =3 · 10 = 14 · 15 = 13 · 2 = 7 · 10 =84 : 7 = 3 · 7 = 1 · 15 = 5 · 5 =11 · 4 = 70 : 14 = 154 : 14 = 140 : 10 =140 : 10 = 14 · 12 = 12 · 1 = 10 : 5 =28 : 14 = 120 : 12 = 1 : 1 = 8 · 15 =126 : 9 = 168 : 14 = 7 · 3 = 15 · 14 =8 : 8 = 66 : 11 = 5 · 4 = 45 : 15 =60 : 15 = 91 : 13 = 10 · 3 = 1 · 3 =14 : 1 = 11 · 7 = 56 : 8 = 10 · 1 =91 : 7 = 10 · 14 = 5 · 12 = 70 : 14 =40 : 10 = 14 · 1 = 15 · 15 = 182 : 14 =11 · 6 = 14 : 14 = 3 · 14 = 50 : 10 =14 · 9 = 8 · 9 = 1 · 14 = 6 : 6 =1 · 12 = 13 · 9 = 15 · 8 = 132 : 12 =6 · 3 = 84 : 6 = 78 : 13 = 10 · 15 =Mathslibres.com



Multiplication et Division (A) RéponsesCalculez chaque produit ou quotient.81 : 9 = 9 35 : 5 = 7 4 · 13 = 52 14 · 2 = 2821 : 3 = 7 1 · 9 = 9 14 · 11 = 154 14 · 4 = 566 · 9 = 54 15 · 13 = 195 3 · 8 = 24 14 · 11 = 15412 : 3 = 4 12 : 1 = 12 65 : 13 = 5 14 · 15 = 21042 : 3 = 14 3 · 15 = 45 182 : 13 = 14 78 : 6 = 133 · 13 = 39 77 : 7 = 11 7 · 2 = 14 9 · 1 = 950 : 10 = 5 3 · 7 = 21 3 · 3 = 9 12 : 3 = 4150 : 15 = 10 13 · 13 = 169 104 : 8 = 13 75 : 5 = 152 · 6 = 12 60 : 6 = 10 72 : 9 = 8 5 · 15 = 7515 · 14 = 210 12 : 4 = 3 11 · 12 = 132 12 : 2 = 63 · 10 = 30 14 · 15 = 210 13 · 2 = 26 7 · 10 = 7084 : 7 = 12 3 · 7 = 21 1 · 15 = 15 5 · 5 = 2511 · 4 = 44 70 : 14 = 5 154 : 14 = 11 140 : 10 = 14140 : 10 = 14 14 · 12 = 168 12 · 1 = 12 10 : 5 = 228 : 14 = 2 120 : 12 = 10 1 : 1 = 1 8 · 15 = 120126 : 9 = 14 168 : 14 = 12 7 · 3 = 21 15 · 14 = 2108 : 8 = 1 66 : 11 = 6 5 · 4 = 20 45 : 15 = 360 : 15 = 4 91 : 13 = 7 10 · 3 = 30 1 · 3 = 314 : 1 = 14 11 · 7 = 77 56 : 8 = 7 10 · 1 = 1091 : 7 = 13 10 · 14 = 140 5 · 12 = 60 70 : 14 = 540 : 10 = 4 14 · 1 = 14 15 · 15 = 225 182 : 14 = 1311 · 6 = 66 14 : 14 = 1 3 · 14 = 42 50 : 10 = 514 · 9 = 126 8 · 9 = 72 1 · 14 = 14 6 : 6 = 11 · 12 = 12 13 · 9 = 117 15 · 8 = 120 132 : 12 = 116 · 3 = 18 84 : 6 = 14 78 : 13 = 6 10 · 15 = 150Mathslibres.com


